Algebra 2




            

Name__________________________

Unit 12 Day 0B






Date: _______________ Period: ____

Systems of Equations in Three Variables & Solving Radical Equations
Yesterday we solved systems of equations in 3 variables.  Today we are going to look at the cases where there is no solution or infinitely many solutions.

	Example #1:  Infinitely Many Solutions
Solve the system of equations.
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	Example #2:  No Solution
Solve the system of equations.
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Radical Equations: Solve each equation for the variable.  Be sure to check for extraneous solutions.  

	Example #1:
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	Example #2:
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	Example #3:
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Mixed Practice:  Answer the following.  Show all work and reasoning.

	1.  Solve each system of equations.  There maybe one solution, no solution, or infinitely many solutions.  

	a)  
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	b)  
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	c)  
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	d)  
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	2.  Solve each equation for x.  Be sure to check for extraneous solutions.  

	a)  
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	c)  
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	e)  
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	i)  
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	3.  Perform each expression without a calculator.

	a)  
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	4.  Expand and simplify the binomial 
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	5.  Find all zeros of 
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 by listing all possible rational zeros.  Sketch a graph of 
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	6.  Solve for all solutions of x.

	a)  
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